(0¢)
o
o
(04}
N
N
N
(@]
S
©
(]
=
=
=
=
»
o
=
7
e}
o
3

Roller Wheels & Brackets

ECONOMY ROLLER WHEEL WITH BRASS BUSHING

o Use for guided linear motion c j <
o Mounts to extrusion end or in T-Slot ]
G a a
o Made of high strength black nylatron T ) _\
. D I ¥
o Economy: brass bushing A B r t E K
v i
¥ >| ] T;__
E -
. L
ITEM# SERIES ~ COLOR  MATERIAL A B C D E F G H J K L M  LOAD
655222 10 Black Nylon ~ 1.500" 1.125" .188" 563" .314" .625" 1/4-20 480" .240" .435" .125" .310" 50 Ibs
655224 15 Black Nylon ~ 2.000" 1.625" .188" .812" 375" .750" 5/16-18 .720" .310" .562" .125" .375" 751bs
655223 10to 15  Black Nylon ~ 1.500" 1.125" .188" .563" .314" .625" 1/4-20 480" .310" .435" .125" .310" 751bs
INCLUDED FASTENERS
ROLLER # SERIES BOLT T-NUT WASHER
655222 10 1/4-20 Shoulder Bolt Economy Yes
655224 15 5/16-18 Shoulder Bolt Economy Yes
655223 10to 15 1/4-20 Shoulder Bolt Economy Yes
DELUXE ROLLER WHEEL WITH BALL BEARINGS
o Use for guided linear motion j <
C - -
o Mounts to extrusion end or in T-Slot 3 ]
G -
o Made of high strength black nylatron T [‘) _\ i
. ) |i
Fasteners /nc/ude?d A B @’. ; E K
o Deluxe: ball bearings J [

M
>

- A

ITEM# SERIES  COLOR  MATERIAL A B C D E F G H J K L LOAD
655221 15 Black Nylon  2.000" 1.625" .188" .812" .375" .750" 5/16-18 .720" .310" .562" .125" .375" 100 Ibs
INCLUDED FASTENERS

ROLLER # SERIES BOLT T-NUT WASHER

655221 15 5/16-18 Shoulder Bolt Economy Yes




ROLLER WHEEL BRACKETS

o [deal for framed doors

B
L
o Assembly part numbers include roller wheels Ty T r
W o Fasteners included for both assembly and bracket ,L D ——
9." . part numbers ~ o -
« O —I
- CaR il
e — » OO : w il
© T il
F R
ol L
J — \ R |
Mol |
> G |l= *NL
ITEM#  SERIES FOR EXTRUSION A B C D E F G H J-TAP K L M N 0
655472 10 1010 2.125" 1.000" .500" .500" .669" 1.228" 544" 228" 1/4-20 1.250" .500" 3.125" .255" 938"
655474 10 1020 3.125" 1.000" .500" .500" 1.000" 1.562" 544" 228" 1/4-20 2.250" .500" 4.125" .255" .938"
655476 15 1515 3.125" 1.500" .750" .750" .860" 1.883" .735" .383" 5/16-18 1.750" .750" 4.625" .390" 1.438"
655479 15 1530 4.625" 1.500" .750" .750" 1.500" 2.313" .735" .383" 5/16-18 3.25" .750" 6.125" .390" 1.438"
INCLUDED FASTENERS
SERIES aty BOLT T-NUT
10 2 EA 1/4-20 x 3/8" Low Head SHCS Standard

15 2 EA 5/16-18 x 5/8" Low Head SHCS Standard

-
Py
>
(@]
_‘
@)
=2
>
—
—
=2
m
b
)
vs}
m
>
X
=2
(]
w




(0¢)
(@]
o
(04}
N
N
N
(@]
S
O
(]
=
=
=
=
»
o
=
7
o
o
3

Linear Motion

ROLLER WHEEL ASSEMBLIES

o [deal for framed doors
o Assembly part numbers include roller wheels

o Fasteners included for both assembly and bracket
part numbers

ITEM# SERIES FOR EXTRUSION ROLLER
655473 10 1010 Economy
655475 10 1020 Economy
655477 15 1515 Deluxe
655478 15 1515 Economy
655480 15 1530 Deluxe
655481 15 1530 Economy
INCLUDED FASTENERS
ITEM # SERIES aty BOLT T-NUT
651474 & 651075 10 2 ea 1/4-20 x 3/8" LHSCS Economy
699955 & 651074 15 2ea 5/16-18 x 5/8" LHSCS Economy
655473 655475 6554717 655478 655480 655481
] I I
1 { 7 1 1
- 1.000 2.000 1.500 1.500 3.000 3.000
] I I
DIVIDUAL PAR BER
655472 655474 655476 655479 655222 655223 655221 655224
655473 1 2
+H
= 655475 1 2
=
; 655471 1 2
= 655480 1 2
3 655478 1 2
T
655481 1 2




